1. Derive: T from

$$
\begin{aligned}
& (P \vee Q) \supset R \\
& \sim S \\
& (R \vee S) \supset T \\
& \sim S \supset P
\end{aligned}
$$

2. Derive $Q \&(P \& \sim R)$ from

$$
\begin{aligned}
& P \supset Q \\
& {[(N \vee P) \& S] \supset(T \& P)} \\
& S \& N \\
& T \supset \sim R
\end{aligned}
$$

3. Derive: $T \supset(Q \vee S)$ from

$$
\begin{aligned}
& (P \supset Q) \&(R \supset S) \\
& T \supset(P \vee R)
\end{aligned}
$$

4. Derive: ~ Q from

$$
\begin{aligned}
& (P \vee Q) \supset(R \& S) \\
& \sim R
\end{aligned}
$$

5. Derive: $P \equiv R$ from

$$
\begin{aligned}
& P \equiv Q \\
& Q \equiv R
\end{aligned}
$$

